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Find the error Questions for IBPS Clerk Mains, IBPS PO Pre, SBI Clerk 
Mains, SBI PO Pre and IBPS SO Pre Exams. 

Find the Error Quiz 31 

Directions: The given sentence has been broken up into four different parts. The error, if any, will 
be in any one part of the sentence. Select the option which contains the part of the sentence which 
has an error (spelling, grammatical or contextual). If there is no error, choose option E. 
 

1. Find the error in one of the following fragments/parts. 

A. The Western Cape is a coastal province 
B. containing Africa’s southernmost point as well as 
C. the apocryphal meeting point    
D. of Indian and Atlantic Ocean. 
E. No error 
 

2. Find the error in one of the following fragments/parts. 

A. The government has started a   B. new diplomatic policy with a view 
C. to improve relations with    D. the neighbouring countries 
E. No Error 
 

3. Find the error in one of the following fragments/parts. 

A. The youngster, who has been awarded   
B. the sport's day award, have represented 
C. India in countries like U.S., France, and   
D. even thrice in Pakistan along with others. 
E. No error 
 

4. Find the error in one of the following fragments/parts. 

A. We strongly believe in motivating the students 
B. and to give them the opportunities   
C. to explore their potential and 
D. understand the importance of team work   
E. No error 
 

5.  Find the error in one of the following fragments/parts. 

A. The uplift of poor Dalits, minorities, transgenders and other marginalized sections 
B. requires ethical governance and sound policies 
C. that monitored periodically followed   
D. by adequate implementation. 
E. No error 
 



 

 

6. Find the error in one of the following fragments/parts. 

A. NPA is nothing but a credit facility    
B. extended by bankers in respect of 
C. which the interest has remained past due for a specified period of time, 
D. which is generally 90 days.     
E. No error 
 

7.  Find the error in one of the following fragments/parts. 

A. As political scientist Christophe Jaffrelot argues in his book, 
B. India’s Silent Revolution, the evolution of India’s post-Independence polity — from 
C. being dominated with a single party to a multifarious, deeply “regionalised” system 
D. was made possible by a “silent revolution” of the lower castes. 
E. No error 

 
8.  Find the error in one of the following fragments/parts. 

A. This instance is an addition to the unfortunate precedent 
B. in 2012 when the then prime minister Yousaf Raza Gilani 
C. was disqualified by the Supreme Court 
D. on charges of contempt of court. 
E. No error 

 
9.  Find the error in one of the following fragments/parts. 

A. It is widely recognized that 
B. judicial independence is an important 
C. prerequisite in the making 
D. of the successful democracy. 
E. No error  

 
10.  Find the error in one of the following fragments/parts. 

A. Libertarians like universal basic income (UBI) 
B. as an alternative for other welfare benefits, 
C. such as food stamps, because it doesn’t phase out 
D. at higher levels of income. 
E. No error 

 

Correct Answers: 
 

1 2 3 4 5 6 7 8 9 10 

D C B B C E C E D B 

 



 

 

Explanations : 
 

1. There is an error in part D of the sentence as the definitely article ‘the’ has not been used before the 
names of the oceans.  

 
The correct sentence would be: 

  
“The Western Cape is a coastal province containing  Africa’s southernmost point as well as the 
apocryphal meeting point of the Indian and Atlantic Ocean.” 

 
Option D is hence the correct answer. 

 
 

2. There is an idiomatic error in the part C of the sentence. ‘Improve’ will be replaced by ‘improving’ 
because the phrase ‘with a view to’ is followed by a noun or a gerund. 

 

Ex. Strips of rainforest were purchased with a view to creating protected areas. 
  

The correct sentence would hence be: 
  

“The government has started a new diplomatic policy with a view to improving relations with the 
neighbouring countries.” 

 

Option C is hence the correct answer. 
 
 

3.      There is an error in B part of the sentence as the subject used in the sentence is singular in nature and 
not plural. Clearly, we need to use a singular verb here. Hence ‘have’ must be replaced by ‘has’ in the 
sentence. 

  

The correct sentence would hence be: 
  

“The youngster, who has been awarded the sport's day award, has represented India in countries like 
U.S., France, and even thrice in Pakistan along with others.” 

 
Option B is hence the correct answer. 
 
 

4.   There is an error of 'parallelism' in part B of the sentence as according to the rule of parallel 
construction the parts of speech used before and after ‘and’ should be the same. Therefore, the 
inifitive 'to give’ must be replaced by the gerund ‘giving’ in the sentence. 

  

The correct sentence would be: 
  

“We strongly believe in motivating the students and giving them the opportunities to explore their 
potential and understand the importance of team work.” 
 
Option B is hence the correct answer. 



 

 

5.  The fragment C of the sentence is erroneous as usage of active voice in this part makes it absurd in the 
context. 

 

The correct sentence would therefore be, “The uplift of poor Dalits, minorities, transgenders and other 
marginalized sections requires ethical governance and sound policies that are monitored periodically 
followed by adequate implementation.” 

 

Option C is hence the correct answer. 
 
 

6. The sentence is absolutely correct and thus has no error in it. 
 

Option E is hence the correct answer. 
  

 

7. Fragment C of the sentence is erroneous. The preposition following the word 'dominated' must be 'by' 
and not 'with'.  

 

The correct sentence would therefore be, "As political scientist Christophe Jaffrelot argues in his 
book, India’s Silent Revolution, the evolution of India’s post-Independence polity — 
from being dominated by a single party to a multifarious, deeply “regionalised” system was made 
possible by a “silent revolution” of the lower castes." 

 

Hence, the correct answer is option C. 
  

 

8. The sentence has no error and hence is absolutely correct. 
 

Hence, the correct answer is option E. 
 
 

9. The fragment D of the sentence is grammatically incorrect. 
 

Instead of the article “the” before “successful democracy”, “a” should be used since here democracy is 
not being used a specific/particular noun. 
 

The correct sentence would therefore be, “It is widely recognized that judicial independence is an 
important prerequisite in the making of a successful democracy.” 
 

Option D is hence the correct answer. 
 
 

10. The fragment B of the sentence is grammatically incorrect. 
 

Here UBI is pitched as a replacement for other welfare benefits. When the motive is replacement of 
something, “to” is used after “alternative”. 

 

The correct sentence would therefore be, “Libertarians like universal basic income as an alternative 
to other welfare benefits, such as food stamps, because it doesn’t phase out at higher levels of 
income.” 
Option B is hence the correct answer. 
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